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� 7 ”strong=”3541|����� x-morph=”OSHM:HD” ”strong=”559|������
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.0” ”strong=”3068|�������
x-morph=”OSHM:HNp” strong=”6635|��������� b” x-morph=”OSHM:HNcbpa”
x-cantillationLevel=”1” strong=”7760|�������� a” x-morph=”OSHM:HVqv2mp”
”strong=”3824|����/������ x-morph=”OSHM:HNcmsc/Sp2mp” x-cantillationLevel=”0.0”
strong=”5921|��� a” x-morph=”OSHM:HR”����/���������|strong=”1870”
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b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1” ”strong=”c/7521|�������/��
x-morph=”OSHM:HC/Vqi1cs”��/����|strong=”b” x-morph=”OSHM:HR/Sp3ms”
”strong=”c/3513|����/� x-morph=”OSHM:HC/VNi1cs” x-wType=”x-ketiv”
1 ”strong=”559|������ x-morph=”OSHM:HVqp3ms” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 9 ”strong=”6437|�������
x-morph=”OSHM:HVqa” ”strong=”413|��� x-morph=”OSHM:HR”����������|strong=”7235
a” x-morph=”OSHM:HVha” x-cantillationLevel=”1.1.0” ”strong=”c/2009|�������/��
x-morph=”OSHM:HC/Tm” ”strong=”l/4592|������/�� x-morph=”OSHM:HR/Aamsa”

1+ ”strong=”c/3513|�����������/������/� x-morph=”OSHM:HC/VNh1cs” x-
cantillationLevel=”0.0”
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x-cantillationLevel=”1.1” ”strong=”c/935|���������/�� x-morph=”OSHM:HC/Vhp2mp”
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”strong=”5002|������ x-morph=”OSHM:HNcmsc” x-cantillationLevel=”0.2.0”
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x-morph=”OSHM:HNcmsa” strong=”l/1004|��/�����/�� b” x-morph=”OSHM:HR/Ncmsc/Sp3ms”
x-cantillationLevel=”0”� 10 strong=”5921|��� a” x-morph=”OSHM:HR”������|strong=”3651
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x-cantillationLevel=”1.1” ”strong=”3607|��������� x-morph=”OSHM:HVqp3cp”
”strong=”8064|�������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.0”
2 Marks a place where we agree with BHQ against BHS in reading L. 3 4
”strong=”m/2919|�����/�� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1”
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x-morph=”OSHM:HC/Vqw1cs” strong=”2721|������ a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1.1.0” strong=”5921|��� a” x-morph=”OSHM:HR”������/���|strong=”d/776”
x-morph=”OSHM:HTd/Ncbsa” strong=”c/5921|���/�� a” x-morph=”OSHM:HC/R”�������/���|strong=”d/2022”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.1.1” strong=”c/5921|���/��
a” x-morph=”OSHM:HC/R”�������/���|strong=”d/1715” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1.0” strong=”c/5921|���/�� a” x-morph=”OSHM:HC/R”����������/���|strong=”d/8492”
x-morph=”OSHM:HTd/Ncmsa” strong=”c/5921|���/�� a” x-morph=”OSHM:HC/R”���������/���|strong=”d/3323”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1” strong=”c/5921|����/��
a” x-morph=”OSHM:HC/R” x-cantillationLevel=”1.0.0” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”3318|��������� x-morph=”OSHM:HVhi3fs”
x-cantillationLevel=”1.0” ”strong=”d/127|��������/�� x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”1” strong=”c/5921|���/�� a” x-morph=”OSHM:HC/R”������/����|strong=”d/120”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1.0” strong=”c/5921|���/��
a” x-morph=”OSHM:HC/R”���������/���|strong=”d/929” x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”0.1” strong=”c/5921|����/�� a” x-morph=”OSHM:HC/R”
x-cantillationLevel=”0.0” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”���������|strong=”3018”
x-morph=”OSHM:HNcmsc” ”strong=”3709|���������� x-morph=”OSHM:HNcfda”
x-cantillationLevel=”0”� � 12 ”strong=”c/8085|����������/�� x-morph=”OSHM:HC/Vqw3ms”

2Q
3k We read one or more consonants in L differently from BHS.
4n Marks an anomalous form.
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”strong=”2216|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.1.3”
� strong=”1121|����� a” x-morph=”OSHM:HNcmsc”��������������|strong=”7597
b” x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.1.2” ”strong=”c/3091|����������/��
x-morph=”OSHM:HC/Np” strong=”1121|���� a” x-morph=”OSHM:HNcmsc”������������|strong=”3087”
x-morph=”OSHM:HNp” ”strong=”d/3548|�������/�� x-morph=”OSHM:HTd/Ncmsa”
strong=”d/1419|��������/�� a” x-morph=”OSHM:HTd/Aamsa” x-cantillationLevel=”1.2.1.1”
”strong=”c/3605|����/�� x-morph=”OSHM:HC/Ncmsc” x-cantillationLevel=”1.2.1.0”
� ”strong=”7611|���������� x-morph=”OSHM:HNcfsc” strong=”d/5971|����/��
a” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.2.1” strong=”b/6963|�����/���
a” x-morph=”OSHM:HR/Ncmsc” x-cantillationLevel=”1.2.0” ”strong=”3068|�������
x-morph=”OSHM:HNp” ”strong=”430|����/�������� x-morph=”OSHM:HNcmpc/Sp3mp”
x-cantillationLevel=”1.2” strong=”c/5921|���/�� a” x-morph=”OSHM:HC/R”����������|strong=”1697”
x-morph=”OSHM:HNcmpc” x-cantillationLevel=”1.1.0” strong=”2292|�������
a” x-morph=”OSHM:HNp” ”strong=”d/5030|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1” strong=”k/834|�������/��� d” x-morph=”OSHM:HR/Tr”
”strong=”7971|��/������� x-morph=”OSHM:HVqp3ms/Sp3ms” x-cantillationLevel=”1.0”
”strong=”3068|������� x-morph=”OSHM:HNp” ”strong=”430|����/�������
x-morph=”OSHM:HNcmpc/Sp3mp” x-cantillationLevel=”1” ”strong=”c/3372|�����������/��
x-morph=”OSHM:HC/Vqw3mp” strong=”d/5971|����/�� a” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.0” ”strong=”m/6440|�������/�� x-morph=”OSHM:HR/Ncbpc”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
13 ”strong=”c/559|�������/��� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.0.0.1”
strong=”2292|������� a” x-morph=”OSHM:HNp” x-cantillationLevel=”1.0.0.0”
”strong=”4397|��������� x-morph=”OSHM:HNcmsc” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0.0” ”strong=”b/4400|�����������/���
x-morph=”OSHM:HR/Ncfsc” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” strong=”l/5971|����/�� a” x-morph=”OSHM:HRd/Ncmsa”
”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1”
”strong=”589|������ x-morph=”OSHM:HPp1cs” ”strong=”854|����/�����
x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”0.0” ”strong=”5002|�����
x-morph=”OSHM:HNcmsc”��������|strong=”3068” x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 14 ”strong=”c/5782|�������/�� x-morph=”OSHM:HC/Vhw3ms”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.2.1”
”strong=”853|��� x-morph=”OSHM:HTo”�������|strong=”7307” x-morph=”OSHM:HNcbsc”
”strong=”2216|����������� x-morph=”OSHM:HNp” strong=”1121|����
a” x-morph=”OSHM:HNcmsc”��������������|strong=”7597 b” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2.2.0” ”strong=”6346|������� x-morph=”OSHM:HNcmsc”
”strong=”3063|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.2”
”strong=”c/853|���/�� x-morph=”OSHM:HC/To”��������|strong=”7307”
x-morph=”OSHM:HNcbsc” x-cantillationLevel=”1.2.1” ”strong=”3091|�����������
x-morph=”OSHM:HNp” strong=”1121|���� a” x-morph=”OSHM:HNcmsc”������������|strong=”3087”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.0” ”strong=”d/3548|�������/��
x-morph=”OSHM:HTd/Ncmsa” strong=”d/1419|��������/�� a” x-morph=”OSHM:HTd/Aamsa”
x-cantillationLevel=”1.2” ”strong=”c/853|���/��� x-morph=”OSHM:HC/To”�������|strong=”7307”
x-morph=”OSHM:HNcbsc” x-cantillationLevel=”1.1” ”strong=”3605|�����
x-morph=”OSHM:HNcmsc” x-cantillationLevel=”1.0” ”strong=”7611|����������
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x-morph=”OSHM:HNcfsc” strong=”d/5971|����/�� a” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1” ”strong=”c/935|����������/�� x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”0.1.0” strong=”c/6213|����������/�� a” x-morph=”OSHM:HC/Vqw3mp”
”strong=”4399|��������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.1”
strong=”b/1004|����/��� b” x-morph=”OSHM:HR/Ncmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” strong=”6635|��������� b” x-morph=”OSHM:HNcbpa”
x-cantillationLevel=”0.0” ”strong=”430|����/������� x-morph=”OSHM:HNcmpc/Sp3mp”
x-cantillationLevel=”0”� � 15 ”strong=”b/3117|�����/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”6242|���������� x-morph=”OSHM:HAcbpa” ”strong=”c/702|�����������/��
x-morph=”OSHM:HC/Acmsa” x-cantillationLevel=”1.0.0” ”strong=”l/2320|�������/��
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.0” ”strong=”b/8345|����������/���
x-morph=”OSHM:HRd/Aomsa” x-cantillationLevel=”1” ”strong=”b/8141|�������/���
x-morph=”OSHM:HR/Ncfsc” ”strong=”8147|���������� x-morph=”OSHM:HAcfda”
x-cantillationLevel=”0.0” ”strong=”l/1867|�����������/�� x-morph=”OSHM:HR/Np”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”�

2 ”strong=”b/7637|�����������/��� x-morph=”OSHM:HRd/Aomsa”
x-cantillationLevel=”1.1” ”strong=”b/6242|����������/��� x-morph=”OSHM:HR/Acbpa”
”strong=”c/259|������/�� x-morph=”OSHM:HC/Acmsa” x-cantillationLevel=”1.0”

”strong=”l/2320|�������/�� x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1”
”strong=”1961|������ x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.1.0”
”strong=”1697|������ x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1” ”strong=”b/3027|���/���
x-morph=”OSHM:HR/Ncbsc”��������|strong=”2292 a” x-morph=”OSHM:HNp”
”strong=”d/5030|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0”
”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0”�
2 ”strong=”559|����� x-morph=”OSHM:HVqv2ms”�����|strong=”4994”
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x-morph=”OSHM:HNcmsc” ”strong=”3027|����/����� x-morph=”OSHM:HNcbdc/Sp2mp”
x-cantillationLevel=”1” ”strong=”c/369|����/�� x-morph=”OSHM:HC/Tn”����/�����|strong=”853”
x-morph=”OSHM:HTo/Sp2mp” ”strong=”413|�/����� x-morph=”OSHM:HR/Sp1cs”
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x-cantillationLevel=”0.0” ”strong=”5002|����� x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 18 strong=”7760|�������
a” x-morph=”OSHM:HVqv2mp”�����|strong=”4994” x-morph=”OSHM:HTe”
”strong=”3824|����/������ x-morph=”OSHM:HNcmsc/Sp2mp” x-cantillationLevel=”1.1”
strong=”4480|��� a” x-morph=”OSHM:HR”������/���|strong=”d/3117”
x-morph=”OSHM:HTd/Ncmsa” ”strong=”d/2088|�����/�� x-morph=”OSHM:HTd/Pdxms”
x-cantillationLevel=”1.0” ”strong=”c/4605|�/�������/�� x-morph=”OSHM:HC/D/Sd”
x-cantillationLevel=”1” ”strong=”m/3117|������/�� x-morph=”OSHM:HR/Ncmsc”
”strong=”6242|���������� x-morph=”OSHM:HAcbpa” ”strong=”c/702|�����������/��
x-morph=”OSHM:HC/Acmsa” x-cantillationLevel=”0.0.1.0” ”strong=”l/8671|�����������/��
x-morph=”OSHM:HRd/Aomsa” x-cantillationLevel=”0.0.1” strong=”l/4480|���/��
a” x-morph=”OSHM:HR/R”������/���|strong=”d/3117” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.0.0” strong=”834|������ a” x-morph=”OSHM:HTr”��������|strong=”3245”
x-morph=”OSHM:HVPp3ms” ”strong=”1964|������� x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” strong=”7760|��������
a” x-morph=”OSHM:HVqv2mp” ”strong=”3824|����/������ x-morph=”OSHM:HNcmsc/Sp2mp”
x-cantillationLevel=”0”� 19 ”strong=”i/5750|�����/�� x-morph=”OSHM:HTi/D”
”strong=”d/2233|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.0”
”strong=”b/4035|����������/��� x-morph=”OSHM:HRd/Ncfsa” x-cantillationLevel=”1.1”
”strong=”c/5704|���/�� x-morph=”OSHM:HC/R”�������/���|strong=”d/1612”
x-morph=”OSHM:HTd/Ncbsa” ”strong=”c/d/8384|���������/��/�� x-
morph=”OSHM:HC/Td/Ncfsa” ”strong=”c/d/7416|��������/��/�� x-morph=”OSHM:HC/Td/Ncmsa”
x-cantillationLevel=”1.0.0” ”strong=”c/6086|����/�� x-morph=”OSHM:HC/Ncmsc”
”strong=”d/2132|�������/�� x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.0”
”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”5375|������� x-
morph=”OSHM:HVqp3ms” x-cantillationLevel=”1” strong=”4480|��� a” x-
morph=”OSHM:HR”������/���|strong=”d/3117” x-morph=”OSHM:HTd/Ncmsa”
”strong=”d/2088|�����/�� x-morph=”OSHM:HTd/Pdxms” x-cantillationLevel=”0.0”
”strong=”1288|��������� x-morph=”OSHM:HVpi1cs” x-cantillationLevel=”0”�
� 20 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”1697|�����
x-morph=”OSHM:HNcmsc”��������|strong=”3068” x-morph=”OSHM:HNp”
� ”strong=”8145|�������� x-morph=”OSHM:HAofsa” x-cantillationLevel=”0.1.0”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”2292 a” x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” ”strong=”b/6242|����������/��� x-morph=”OSHM:HR/Acbpa”
”strong=”c/702|�����������/�� x-morph=”OSHM:HC/Acmsa” x-cantillationLevel=”0.0.0”
”strong=”l/2320|�������/�� x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0.0”
”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0”�
21 ”strong=”559|������ x-morph=”OSHM:HVqv2ms” x-cantillationLevel=”1.1”
”strong=”413|��� x-morph=”OSHM:HR”������������|strong=”2216”
x-morph=”OSHM:HNp” ”strong=”6346|������� x-morph=”OSHM:HNcmsc”����������|strong=”3063”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”l/559|�����/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1” ”strong=”589|������
x-morph=”OSHM:HPp1cs” ”strong=”7493|���������� x-morph=”OSHM:HVhrmsa”
x-cantillationLevel=”0.1” ”strong=”853|��� x-morph=”OSHM:HTo”����������/���|strong=”d/8064”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.0” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”������/���|strong=”d/776” x-morph=”OSHM:HTd/Ncbsa”
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x-cantillationLevel=”0”� 22 ”strong=”c/2015|������������/�� x-morph=”OSHM:HC/Vqq1cs”
x-cantillationLevel=”1.2.0” ”strong=”3678|�������� x-morph=”OSHM:HNcmsc”
”strong=”4467|����������� x-morph=”OSHM:HNcfpa” x-cantillationLevel=”1.2”
”strong=”c/8045|���������������/�� x-morph=”OSHM:HC/Vhq1cs”
x-cantillationLevel=”1.1” ”strong=”2392|������ x-morph=”OSHM:HNcmsc”
x-cantillationLevel=”1.0” ”strong=”4467|����������� x-morph=”OSHM:HNcfpc”
strong=”d/1471|��������/�� a” x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1”
”strong=”c/2015|�����������/�� x-morph=”OSHM:HC/Vqq1cs” ”strong=”4818|�����������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.2.0” ”strong=”c/7392|��/���������/��
x-morph=”OSHM:HC/Vqrmpc/Sp3fs” x-cantillationLevel=”0.2” ”strong=”c/3381|��������/��
x-morph=”OSHM:HC/Vqq3cp” strong=”5483|�������� b” x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0.1.0” ”strong=”c/7392|����/��������/�� x-morph=”OSHM:HC/Vqrmpc/Sp3mp”
x-cantillationLevel=”0.1” ”strong=”376|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0” ”strong=”b/2719|������/��� x-morph=”OSHM:HR/Ncfsc”
”strong=”251|�/������ x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0”�
23 ”strong=”b/3117|������/��� x-morph=”OSHM:HRd/Ncmsa” ”strong=”d/1931|�����/��
x-morph=”OSHM:HTd/Pp3ms” ”strong=”5002|����� x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” strong=”6635|��������� b” x-morph=”OSHM:HNcbpa”
x-cantillationLevel=”1.1.0.1” ”strong=”3947|��/�������� x-morph=”OSHM:HVqi1cs/Sp2ms”
x-cantillationLevel=”1.1.0.0” ”strong=”2216|����������� x-morph=”OSHM:HNp”
strong=”1121|���� a” x-morph=”OSHM:HNcmsc”����������������|strong=”7597
a” x-morph=”OSHM:HNp” ”strong=”5650|��/������� x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”1.1.0” ”strong=”5002|����� x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” strong=”c/7760|��/����������/��
a” x-morph=”OSHM:HC/Vqp1cs/Sp2ms” x-cantillationLevel=”1.0” ”strong=”k/2368|�������/����
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC”���/���|strong=”b” x-morph=”OSHM:HR/Sp2ms”
”strong=”977|����������� x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”0.1”
”strong=”5002|������ x-morph=”OSHM:HNcmsc” x-cantillationLevel=”0.0”
”strong=”3068|������� x-morph=”OSHM:HNp” strong=”6635|���������
b” x-morph=”OSHM:HNcbpa” x-cantillationLevel=”0”�


